EMX-C

S B RKESH
Ak e

RERAREN

MEEFIEMES, BRNEAELR

SEAKESH 0 25 - 121 mm

n A 1-5
n BARRIBRKME B

NR/&RPF&E

o EATMEEFEEFH/EHI, RAME, TEBUMRERERE
o B EE SRS & S E SR EE

o B R ZXMEMNME R EHIITHEIGR, NMKSHRENIKEBE
o REPKEMEREHR, & ERTEE

o ASERNAES

AR

o BAKIBAIERE-1.2mm, BAFBURTAKE#E (-0,3>+0,7/-0,3>+0,9 from nom. @)
o REBUFMBULAIBIEEAKE

o T/ FENEE

o KAEZRENNIMEIZIT

trERCE

R IR A A
SRZIZET

M
. J:

317]

W

417}

=2,
|

e,

216 17
n
D
B2
g
4
i } oH

o o 7'|—
o9 9 S
g | g SRRRER
Q) S =
o
=
WETE \
N
8
10 7t'_="%ﬂ*ﬁ
T
10 K3 E2
34 F E1
18 28 35 G

SMW-AUTOBLOK #-5 EMX-C-1 EMX-C-2 EMX-C-3 EMX-C-4 EMX-C-5

Id. No.

C 3x120°90 3
D KA

E2 RIFKE

J2 3 x 120°

M E5) 3 x 120°
SW (hex)

BAREH

9410000 9420000 9430000 9440000 9450000
115 115 115 135 165
75 75 115 135 165
92 92 92 112 140

3xM10 3xM10 3xM10 3xM10 3xM12
12.5 12.5 15.6 15.6 16
62 62 75 95 120

25-37 35-53 49 - 70 66 - 95 90-120
37 43 55 64 86
30 35 45 50 70
25 25 25 25 32
119 130 156.5 175.5 217.5
M8 x 1 M12 x 1.5 M14 x 1.5 M16 x 1.5 M20 x 1.5
62 62 100 115 140
M6 M6 M6 M8 M8
6 6 6 8 8
35 42 54 73 96
24.5 34.5 48.5 64.5 89.5
16.2 15.2 16.5 17 22
- - - M8 M8
SW5 SW6 SW10 SW12 SW14

SMW-AUTOBLOK #-5 EMX-C-1 EMX-C-2 EMX-C-3 EMX-C-4 EMX-C-5

Id. No.

1T

EHR (ERRTL)
R RIERIF] kN
RAEIEHE Nm

EE kg
AR S L

278 SMW-AUTOBLOK

9410000 9420000 9430000 9440000 9450000
6.0 6.0 6.0 6.0 6.0
1.0 1.0 1.2 1.2 1.2

8 12 15 25 30

35 90 120 250 400

2.9 3.2 4.3 6.6 13.3
SIN-S 70 SIN-S 85 SIN-S 85 SIN-S 100 SIN-S 125



SEAKETH 0 25 - 121 mm EMX-C

7B BKER
w iT8R—R 27198 3)
FE U
RfFSeEE—
EMX-C-5
| RFEFETE 90-120 mm
EMX-C-4 |
| R 66-95 mm |
EMX-C-3 —
KFFER 4970mm |
EMX-C-2 — RIBEE
35-53 mm
EMX-C-1 — v
REEE
25-37 mm
| | | | | | | | | | | |
0 10 20 30 40 50 60 70 80 90 100 110 120
/
REFHE
EMX-C-1*
(9] 25 26 27 28 29 30 31 32 B8 34 35 36 37
RS 9410250 9410260 9410270 9410280 9410290 9410300 9410310 9410320 9410330 9410340 9410350 9410360 9410370
EMX-C-2*
(%) 85 36 37 38 39 40 41 42 43 44 45 46 47
WS 9420350 9420360 9420370 9420380 9420390 9420400 9420410 9420420 9420430 9420440 9420450 9420460 9420470
(9] 48 49 50 51 52 53
WS 9420480 9420490 9420500 9420510 9420520 9420530
EMX-C-3*
(9] 49 50 51 52 53 54 55 56 57 58 59 60 61
WS 9430490 9430500 9430510 9430520 9430530 9430540 9430550 9430560 9430570 9430580 9430590 9430600 9430610
1] 62 63 64 65 66 67 68 69 70
WS 9430620 9430630 9430640 9430650 9430660 9430670 9430680 9430690 9430700
EMX-C-4*
1] 66 67 68 69 70 71 72 73 74 75 76 77 78
WS 9440660 9440670 9440680 9440690 9440700 9440710 9440720 9440730 9440740 9440750 9440760 9440770 9440780
1] 79 80 81 82 83 84 85 86 87 88 89 90 91
WS 9440790 9440800 9440810 9440820 9440830 9440840 9440850 9440860 9440870 9440880 9440890 9440900 9440910
a 92 93 94 95
WS 9440920 9440930 9440940 9440950
EMX-C-5*
9] 90 91 92 93 94 95 96 97 98 99 100 101 102
his 9450900 9450910 9450920 9450930 9450940 9450950 9450960 9450970 9450980 9450990 9451000 9451010 9451020
(9] 103 104 105 106 107 108 109 110 11 112 113 114 115
= 9451030 9451040 9451050 9451060 9451070 9451080 9451090 9451100 9451110 9451120 9451130 9451140 9451150
(9] 116 117 118 119 120
WS 9451160 9451170 9451180 9451190 9451200

* BKEHRO3mm (ERERYLE) wyLRl=E.

RFFIRET

EMX-C-1 9412000
EMX-C-2 9422000
EMX-C-3 9432000
EMX-C-4 9442000
EMX-C-5 9452000

SMW-AUTOBLOK 279



EMX-C DEIBKETEH 9 25 - 121 mm

SERF KRG
N HLEE)

EMX-CE B VimmE E ML E

[£14}

A
|

2B
I
pl7]
[EZ]
Lag

7ag

BRE#AE EMX-C- EMX-C 2 EMX-C 3 EMX-C 4 EMX C- 5

2B 75 75 75 75 115 115 135 135 165 165
o2C 24.5 24.5 345 345 48.5 48.5 64.5 64.5 89.5 89.5
D1 62 62 62 62 100 100 115 115 140 140
D2 6.6 6.6 6.6 6.6 6.6 6.6 9 9 9 9
OE1 = = = = 92 92 112 112 140 140
OE2 = = = = 9 9 9 9 12 12
F 17.2 17.2 16.2 16.2 17.5 17.5 18 18 23 23
G 40 75 45 85 60 110 70 125 85 160

280 SMW-AUTOBLOK



&L (BkfR) BE=8

m EMX-P. EMX-F/FPFIEMX-Citi4h[E B 22 35

m ;= A FDIN 55026/ISO-A 702/1E5H 2% ISO-A AT RAKEH
A B C
. B
5 &= N g

L
€900
[
?44
€07

15g
[BY7]
1Dg

@Da
@D2
@D1

SL@
7]
217

@D4.

L
g
27
oG
@D4

|
7]
oA
NG
10

T
[
M

BERAER.
WEEZER, FHRARNNEFRS.

BAREH

EA (BE) AZ8 | B L1 | LK1
Id. No. ISO

9000051 mm A5 82.563 104.8 3xM10 135 3xM10 112 3 xM10
9000052 mm A5 82563 1048 3xM10 165 3xM10 112 3xM10 140 3xMI12 - =
9000053 mm A5 82.563 104.8 3xM10 210 35 92 3xM10 112 3xM10 140 3xM12 182 3xM12
9000061 mm A6 106375 1334 3xMI10 165 36 92 3xM10 112 3xMI10 140 3xM12 - =
9000062 mm A6 106.375 133.4 3xM10 210 36 92 3xM10 112 3xM10 140 3xM12 182 3xM12
9000081 mm A8 139.719 1714 3xM10 210 45 92 3xM10 112 3xMI10 140 3xM12 182 3xMIi2
SENBEEE=ZR By EMX-P EMX-F/FP EMX-C
ISO

9000051 A5 0-1-2-3-4-5-6-7-8-9-10-11 1-2-3-4 1-2-3-4

9000052 A5 0-1-2-3-4-5-6-7-8-9-10-11 1-2-3-4-5 1-2-3-4-5

9000053 A5 0-1-2-3-4-5-6-7-8-9-10-11 1-2-3-4-5-6 1-2-3-4-5

9000061 A6 0-1-2-3-4-5-6-7-8-9-10-11 1-2-3-4-5 1-2-3-4-5

9000062 A6 0-1-2-3-4-5-6-7-8-9-10-11 1-2-3-4-5-6 1-2-3-4-5

9000081 A8 0-1-2-3-4-5-6-7-8-9-10-11 1-2-3-4-5-6 1-2-3-4-5

SMW-AUTOBLOK 281





